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1
cl =
0 0.9
c2 =
0 1.2
c3 =
0 1
norm2 =
1.8028
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0 1.8028
iter =
0 1 2
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cl =
0
c2 =
0
c3 =
0
norm2 =
2.5974
error =
0
iter =
0 1
norml =
2.5974
c:
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cl =
0
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c3 =
0 1
norm2 =
2.8603
error =
0 1.8028
iter =
0 1 2 3
norml =
2.8603
c:
1.053
1.8072
2.0896
cl =
0 0.9
c2 =
0 1.2
c3 =
0 1
norm2 =

2.9566
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error =
0 1.8028
iter =
0 1 2 3
norml =
2.9566
C:
1.0525
1.8285
2.1142
cl =
0 0.9
c2 =
0 1.2
c3 =
0 1
norm2 =
2.9868
error =
0 1.8028

iter =

0.79461

0.79461

0.26289

1.038

1.764

1.998

0.26289

0.096284

1.053

1.8072

2.0896

0.096284

1.0525

1.8285

2.1142

0.030258
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2.9868

=

.0543
.8333
.1248

NN -

cl =

1.0543

1.8333

c3

2.1248

norm2 =

2.9979

error =

0.011059

iter =

1.8028
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1.038

1.764
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0.26289

1.053

1.8072

2.0896
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2.9979
C:
1.0542
1.8358
2.1275
cl =
0
1.0543
c2 =
0
1.8333
c3 =
0
2.1248
norm2
3.0013
error
0
0.011059
joba =
0
1
2
3
4
5
6
7

>>

1.0542

1.8358

2.1275

1.8028
0.003442
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1.2
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1.764
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.8358

e

0.

D NDNN

1.038
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.1248
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1.053

1.8072

2.0896

0.096284
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